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Instructions :

1) All questions are compulsory.

2) Each question carries 2 marks.
3) Answers should be marked in the given OMR answer sheet by darkening the

appropriate option.

4) Use black ball point pen only for marking the circle. Do not make any stray
mark on the OMR Answer Sheet.

5) Follow the instructions given on OMR Sheet.

6) Rough work shall be done on the sheet provided at the end of question paper.

7) Only non-programmable calculators are allowed.
............................................................................................................................................................

Seat
No.

1) One of the following is not the function of a social worker in a juvenile

residential institution.

A. Administration B. Maintaining case records

C. Court hearing of cases D. Publishing research papers

{dYrg§Kf©J«ñV ~mbH$m§À¶m {Zdmgr g§ñWoV Imbrbn¡H$s H$moUVo gm‘m{OH$ H$m¶©H$Ë¶m©Mo H$m¶© Zmhr

A. àemgZ

B. Ho$gÀ¶m Zm|Xr R>odUo

C. emoY{Z~§Y n«H$m{eV H$aUo

D. IQ>ë¶mMr Ý¶m¶mb¶rZ gwZmdUr
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2) Trickledown theory of development holds that:

A. Global prosperity spreads to domestic economy.

B. Development spreads downwards through greater demand for labour.

C. Rate of growth of economy is inversely proportional to the rates of

taxation.

D. None of the above.

{dH$mgmMm {Q´>H$bS>mCZ {gÕm§V Ago ‘mZVmo.

A. OmJ{VH$ g‘¥Õr Xoem§VJ©V AW©ì¶dñWoV ngaVo.

B. ‘Owam§À¶m A{YH$ ‘mJUr‘wio {dH$mg ImbÀ¶m {XeoZo ngaVmo.

C. AW©ì¶dñWoÀ¶m dmT>rMm Xa H$a AmH$maUrÀ¶m Xam§À¶m ì¶ñV à‘mUmV Amho.

D. darbn¡H$s H$mhrhr Zmhr

3) The ultimate goal of Women's Self Help Group is

A. Saving money. B. Taking loans.

C. Getting revolving fund. D. Empowerment.

‘{hbm ñd¶§ghm¶Vm JQ>mMo A§{V‘ Ü¶o¶ ................ Amho.

A. n¡em§Mr ~MV B. H$O© KoUo

C. [aìhm°bpìh¨J ’§$S> {‘idUo D. gj‘rH$aU

4) Which of the following is not a social process?

A. Accommodation B. Acculturation

C. Annihilation D. Assimilation

Imbrbn¡H$s H$moUVr gm‘m{OH$ à{H«$¶m Zmhr?

A. {Zdmg B. g§dY©Z

C. CÀMmQ>Z D. AmË‘gmV H$aUo

5) Which one of the following is not an element of rural community?

A. We-feeling B. Cultural diversity

C. Territory D. Self-sufficiency
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Imbrbn¡H$s H$moUVm KQ>H$ J«m‘rU g‘mOmMm KQ>H$ Zmhr?

A. Amåhr ^mdZm B. gm§ñH¥${VH$ {d{dYVm

C. àXoe D. ñd¶§nyU©Vm

6) What is common to magie, religion and science?

A. Observation and experimentation

B. Equal influence on human beings

C. Orientation towards the unknown

D. Orientation towards the supernatural

OmXÿ, Y‘© Am{U {dkmZ H$m¶ g‘mZVm Amho?

A. {ZarjU Am{U à¶moJ B. ‘mZdmda g‘mZ à^md

C. AkmV {XeoZo A{^‘wIVm D. Abm¡{H$H$VoH$S>o A{^‘wIVm

7) Husband and wife have a right to each other's company. This right is called

as......

A. Legal Right B. Human Right

C. Consortium Right D. Conjugal Right

nVr-nËZrMm EH$‘oH$m§À¶m ghdmgmda h³H$ Amho, ¶m A{YH$mambm åhUVmV....

A. H$m¶Xoera A{YH$ma B. ‘mZdr h³H$

C. H$Ýgmo{Q>©¶‘ A{YH$ma D. d¡dm{hH$ h³H$

8) One of the following is not an aim of social policy.

A. Balancing trade policies

B. Elimination of poverty

C. Maximization of welfare

D. Pursuit of equality

Imbrbn¡H$s EH$ gm‘m{OH$ YmoaUmMm CÔoe Zmhr.

A. ì¶mnma YmoaUo g§Vw{bV H$aUo B. J[a~r {Z‘y©bZ

C. H$ë¶mU OmñVrV OmñV H$aUo D. g‘mZVoMm nmR>nwamdm
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9) Full form of CAPART

A. Council for advancement of people's action and rural technology

B. Council for advance for people association and rural technology

C. Advancement of people association and rural transformation

D. Council of additional people association and rural technology

CAPART Mo nyU© ê$n

A. bmoH$m§À¶m H¥$Vr Am{U J«m‘rU V§ÌkmZmÀ¶m àJVrgmR>r n[afX

B. bmoH$ g§KQ>Zm Am{U J«m‘rU V§ÌkmZmgmR>r AmJmD$ n[afX

C. bmoH$ g§KQ>Zm Am{U J«m‘rU n[adV©ZmMr àJVr

D. A{V[a³V bmoH$ g§KQ>Zm Am{U J«m‘rU V§ÌkmZ n[afX

10) Social Justice is balance between:

A. Individual right and social control

B. Society and Individuals

C. Fundamental right and judicial system

D. Individual and family

gm‘m{OH$ Ý¶m¶ åhUOo ............ ‘Ü¶o g‘Vmob.

A. d¡¶{³VH$ A{YH$ma Am{U gm‘m{OH$ {Z¶§ÌU

B. g‘mO Am{U ì¶³Vr

C. ‘yb ŷV A{YH$ma Am{U Ý¶m¶ì¶dñWm

D. ì¶³Vr Am{U Hw$Qw>§~

11) The Central Government Scheme to prevent trafficking of women and children

for commercial sexual exploitation is

A. Ambedkar Hastshilp Vikas Yojana

B. Swadhar Yojana Scheme

C. Ujjawala Scheme

D. Rashtriya Swasthya Bima Yojana
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............... hr ì¶mdgm{¶H$ ‘{hbm Am{U ‘wbm§Mo b¢{JH$ emofUmgmR>r Ho$br OmUmar VñH$ar

amoIÊ¶mgmR>rMr H|$Ð gaH$maMr ¶moOZm Amho.

A. Am§~oS>H$a hñV{eën {dH$mg ¶moOZm

B. ñdmYma ¶moOZm

C. CÁÁdbm ¶moOZm

D. amï´>r¶ ñdmñW {d‘m ¶moOZm

12) Difficulty in falling asleep is called.

A. Hyposomnia B. Anorexia nervosa

C. Insomnia D. Bulimia nervosa

Pmon bmJÊ¶mV AS>MU åhUOo ...............

A. hm¶nmogmo{‘«¶m B. EZmoao{³g¶m Zdm}gm

C. {ZÐmZme D. ~w{b{‘¶m Zdm}gm

13) Which one of these are techniques of social casework?

A. Individualization B. Encouraging

C. Both (A) and (B) D. None of (A) and (B)

¶mn¡H$s H$moUVo gmoeb Ho$g dH©$Mo V§Ì Amho?

A. d¡¶³VrH$sH$aU B. àmoËgmhZ XoUmao

C. (A) Am{U (B) XmoÝhr D. (A) Am{U (B) n¡H$s Zmhr

14) Which one of the following is not a part of social casework process?

A. Treatment B. Assessment

C. Study D. Content Analysis

Imbrbn¡H$s H$moUVo g‘mOH$m¶© à{H«$¶oMm ^mJ Zmhr?

A. CnMma B. ‘yë¶m§H$Z

C. Aä¶mg D. gm‘J«r {díbofU
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15) Decision making in community organization means.........

A. Choosing among alterationsB. Choosing among alternatives

C. Choosing for allocations D. All the above

g‘wXm¶ g§KQ>ZoV {ZU©¶ KoUo åhUOo...........

A. ~Xbm§‘YyZ {ZdS> H$aUo B. n¶m©¶m‘YyZ  {ZdS> H$aUo

C. dmQ>nmgmR>r  {ZdS> H$aUo D. darb gd©

16) Which of the following is not a principal of case work?

A. Acceptance B. Confidentiality

C. Annihilation D. Individualization

Imbrbn¡H$s H$moUVr gm‘m{OH$ à{H«$¶m Zmhr?

A. ñdrH¥$Vr B. JmonZr¶Vm

C. CÀMmQ>Z D. d¡¶{³VH$aU

17) The process whereby the human infant gradually becomes a self-aware,

knowledgeable person, skilled in the ways of the culture into which he or she

was born is known as..

A. Re-socialization B. Social position

C. Socialization D. Shared understanding

Á¶m à{H«$¶oÛmao ‘mZdr A^©H$ hiyhiy EH$ AmË‘-OmJê$H$, OmUH$ma ì¶³Vr ~ZVo. Á¶m g§ñH¥$VrV

Ë¶mMm OÝ‘ Pmbm Ë¶m nÕVr‘Ü¶o Hw$eb ~ZVo Ë¶mbm ............. åhUVmV.

A. nwZg©‘mOrH$aU B. gm‘m{OH$ pñWVr

C. g‘m{OH$aU D. gm‘m{OH$ g‘O

18) Which one of the following determines that the Indian constitution is federal?

A. A written and rigid constitution

B. An independent judiciary

C. Vesting of residuary power with the centre

D. Distribution of powers between the centre and the states
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^maVr¶ amÁ¶KQ>Zm g§KamÁ¶ Amho, ho Imbrbn¡H$s H$moUVm KQ>H$ R>adVo?

A. {b{IV Am{U H$R>moa g§{dYmZ

B. EH$ ñdV§Ì Ý¶m¶ì¶dñWm

C. H|$Ðmgh Ad{eï> e³VrMo dopñQ>¨J

D. H|$Ð Am{U amÁ¶m§‘Ü¶o A{YH$mam§Mo {dVaU

19) Detachment from work, inability to accomplish goals and emotional discharge

is known as

A. Blockade B. Burnout

C. Ambiguity D. Lockout

H$m‘mnmgyZ A{bßVVm C{Ôï> o nyU© H$aÊ¶mg Ag‘W©Vm Am{U ^md{ZH$Vm ............... åhUyZ

AmoiIbr OmVo.

A. ZmHo$~§Xr B. ~Z©AmD$Q>

C. g§{X½YVm D. bm°H$AmD$Q>

20) Scientific attitude is based on..............

A. Wishful thinking

B. Spiritual thinking

C. Consistent thinking

D. Devotional thinking

............... ho d¡km{ZH$ d¥Îmrda AmYm[aV Amho.

A. BÀN>mnyU© {dMma B. AÜ¶mpË‘H$ {dMma

C. gmVË¶nyU© {dMma D. ^³Vr {dMma

21) Historically social policy relates to:

A. Intervention and social redistributive

B. Socially regulatory

C. Social right

D. All the above
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Eo{Vhm{gH$ÑîQ>çm gm‘m{OH$ YmoaUmer ............... g§~§{YV AmhoV.

A. hñVjon Am{U gm‘m{OH$ nwZ{d©VaU

B. gm‘m{OH$ {Z¶m‘H$

C. gm‘m{OH$ÑîQ>çm ¶mo½¶

D. darb gd©

22) Social Problem are treated with social reform and

A. Social legislation B. Social Work

C. Social Science D. Social services

gm‘m{OH$ g‘ñ¶m ¶m gm‘m{OH$ gwYmaUm Am{U .............. ¶mÛmao hmVmië¶m OmVmV.

A. gm‘m{OH$ H$m¶Xo B. gm‘m{OH$ H$m¶©

C. gm‘m{OH$ {dkmZ D. gm‘m{OH$ godm

23) Social Development is more concerned with investment in

A. Trade B. Industry

C. Infrastructure D. Human Being

gm‘m{OH$ {dH$mg.............. ‘Yrb Jw§VdUwH$ser A{YH$ g§~§{YV AmhoV.

A. ì¶mnma B. CÚmoJ

C. nm¶m ŷV gw{dYm D. ‘mZd

24) Which one of the following is responsible for Social Audit?

A. Gram Sabha

B. Village Panchayat

C. Intermediate Panchayat (Panchayat Samiti)

D. District Panchayat (Zila Parishad)

Imbrbn¡H$s H$moU gm‘m{OH$ boImn[ajUmgmR>r O~m~Xma Amho?

A. J«m‘g^m

B. J«m‘n§Mm¶V

C. ‘Ü¶dVu n§Mm¶V (n§Mm¶V g{‘Vr)

D. {Oëhm n§Mm¶V ({Oëhm n[afX)
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25) Team building involves:

A. Recognizing active members of the team.

B. Recognizing those members who contribute for the growth of the team.

C. Recognizing all the members of the team.

D. Recognizing knowledgeable members of the team.

g§K ~m§YUrV.............. Mm g‘mdoe hmoVmo.

A. g§KmVrb g{H«$¶ gXñ¶m§Zm AmoiIUo

B. g§KmÀ¶m dmT>rgmR>r ¶moJXmZ XoUmè¶m gXñ¶m§Zm AmoiIUo

C. g§KmVrb gd© gXñ¶m§Zm AmoiIUo

D. g§KmVrb OmUH$ma g§Xñ¶m§Zm AmoiIUo.

26) The first step of research is:

A. Selecting a problem B. Searching a problem

C. Finding a problem D. Identifying a problem .

.................... g§emoYZmMr n{hbr nm¶ar Amho.

A. g‘ñ¶m {ZdS>Uo B. g‘ñ¶m emoYUo

C. g‘ñ¶m emoYUo D. g‘ñ¶m AmoiIUo

27) Social work research may be conducted to know the:

A. Problems faced by professional social workers only.

B. Problems faced by social work agencies and communities only.

C. Efficacy of different methods of social work.

D. None of the above.

............. OmUyZ KoÊ¶mgmR>r gm‘m{OH$ H$m¶© g§emoYZ Am¶mo{OV Ho$bo OmD$ eH$Vo.

A. Ho$di ì¶mdgm{¶H$ gm‘m{OH$ H$m¶©H$Ë¶mªZm ôS>gmdUmè¶m g‘ñ¶m

B. Ho$di gm‘m{OH$ H$m¶© g§ñWm Am{U g‘wXm¶m§Zm ôS>gmdUmè¶m g‘ñ¶m

C. gm‘m{OH$ H$m¶m©À¶mm {d{dY nÕVtMr n[aUm‘H$maH$Vm

D. darbn¡H$s H$mhrhr Zmhr
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28) The study in which the investigators attempt to trace an effect is known as:

A. Survey Research B. 'Ex-post Facto' Research

C. Historical Research D. Summative Research

Á¶m Aä¶mgVm AÝdofH$ n[aUm‘ emoYÊ¶mMm à¶ËZ H$aVmV Ë¶mbm .......... Ago åhUVmV.

A. gd}jU g§emoYZ B. EH$-nmoñQ> ’°$³Q>mo g§emoYZ

C. Eo{Vhm{gH$ g§emoYZ D. g‘o{Q>ìh [agM©

29) When a research problem is related to heterogeneous population, the most

suitable sampling method is:

A. Cluster Sampling B. Stratified Sampling

C. Convenient Sampling D. Lottery Method

Ooìhm g§emoYZ g‘ñ¶m {^ÝZOrZgr bmoH$g§»¶oMr g§~§{YV AgVo, Voìhm gdm©V ¶mo½¶ ...... Amho.

A. ³bñQ>a g°ånqbJ B. ñVarH¥$V Z‘wZm

C. gmo¶rñH$a g°ånqbJ D. bm°Q>ar nÕV

30) What is the inductive process of theory development?

A. A researcher begins with a theory and derives hypotheses.

B. A researcher begins with observations and generates tentative

conclusions.

C. A researcher begins with empirical findings and creates a theoretical

framework.

D. A researcher begins with a hypothesis and tests it through observation.

{gÕm§V {dH$mgmMr àoaH$ à{H«$¶m H$m¶ Amho?

A. g§emoYH$ {gÕm§VmZo gwédmV Am{U J¥hrVHo$ H$mT>Vmo.

B. g§emoYH$ {ZarjUmZo gwédmV H$aVmo Am{U VmËnwaVo {ZîH$f© H$mT>Vmo.

C. EH$ g§emoYH$ àm¶mo{JH$ {ZîH$fmªnmgyZ gwédmV H$aVmo Am{U EH$ g¡Õm§{VH$ Mm¡H$Q> V¶ma

H$aVmo.

D. g§emoYH$ J¥hrVH$mZo gwédmV H$aVmo Am{U {ZarjUmÛmao Ë¶mMr MmMUr H$aVmo.
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31) What is evidence-based practice in social work?

A. It encourages practitioners to integrate scientific evidence with their

practice, expertise and knowledge of idiosyncratic circumstances bearing

on specific practice decisions.

B. It emphasizes survey research pertaining to the description of different

social problems.

C. It involves the use of experimental research designs to study causal

relationships in social work.

D. It involves the use of computer software to monitor the effectiveness of

social work interventions.

gm‘m{OH$ H$m¶m©V nwamì¶mda AmYm[aV gamd åhUOo H$m¶?

A. ho à°p³Q>eZg©Zm Ë¶m§À¶m gamd H$m¡eë¶mgh Am{U {d{eï> gamd {ZU©¶m§da AmYm[aV

d¡{eîR>çnyU© n[apñWVrMo kmZ ¶m§À¶mer d¡km{ZH$ nwamdo EH${ÌV H$aÊ¶mg àmoËgmhZ H$aVo.

B. ho {d{dY gm‘m{OH$ g‘ñ¶m§À¶m dU©Zmer g§~§{YV gd}jU g§emoYZmda ^a XoVo.

C. ¶m‘Ü¶o gm‘m{OH$ H$m¶m©Vrb H$m¶©H$maU g§~§Ym§Mm Aä¶mg H$aÊ¶mgmR>r àm¶mo{JH$ g§emoYZ

aMZm§Mm g‘mdoe Amho.

D. ¶m‘Ü¶o gm‘m{OH$ H$m¶© hñVjonm§À¶m n[aUm‘H$maH$Voda bj R>odÊ¶mgmR>r g§JUH$

gm°âQ>doAaMm dmna g‘m{dï> Amho.

32) Which of the following measures is the most resistant to outliers?

A. Mean B. Mode

C. Median D. Range

Imbrbn¡H$s H$moUVo Cnm¶ AmD$Q>bm¶g©bm gdm©V OmñV à{VamoYH$ AmhoV?

A. ‘Ü¶ B. ‘moS>

C. ‘Ü¶H$ D. a|O

33) In descriptive statistics, what does the "variance" measure?

A. The central value of the dataset

B. The total range of the dataset

C. The spread or dispersion of data points around the mean

D. The frequency of each data point in the dataset
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dU©ZmË‘H$ AmH$S>odmar‘Ü¶o {d{dYVm H$m¶ ‘moOVo?

A. S>oQ>mgoQ>Mo H|$Ðr¶ ‘yë¶

B. S>oQ>mgoQ>Mr EHy$U loUr

C. ‘Ü¶m^modVr S>oQ>m q~X§ÿMm àgma qH$dm ’¡$bmd

D. S>oQ>mgoQ>‘Yrb àË¶oH$ S>oQ>m nm°BªQ>Mr dma§dmaVm

34) A researcher selects participants based on referrals from other participants.

What type of sampling is this?

A. Convenience sampling B. Systematic sampling

C. Quota sampling D. Snowball sampling

EH$ g§emoYH$ BVa gh^mJtÀ¶m g§X^m©da  AmYm[aV gh^mJtMr {ZdS> H$aVmo. ho H$moUË¶m àH$maMo

g°ånqbJ Amho?

A. gmo¶rMo g°ånqbJ B. nÕVrera Z‘wZm

C. H$moQ>m g°ånqbJ D. ñZmo~m°b g°ånqbJ

35) A researcher selects participants who are easily accessible and willing to

participate. What type of sampling is this?

A. Purposive sampling B. Quota sampling

C. Convenience sampling D. Stratified sampling

EH$ g§emoYH$ Aem gh^mJtMr {ZdS> H$aVmo Oo ghO àdoe ¶mo½¶ Am{U gh^mJr hmoÊ¶mg BÀN>wH$

AgVmV. ho H$moUË¶m àH$maMo g°ånqbJ Amho?

A. CÔoenyU© Z‘wZm B. H$moQ>m Z‘wZm

C. gmo¶rMo Z‘wZo KoUo D. ñVarH¥$V Z‘wZm

36) What is a dependent variable in research?

A. The variable that is manipulated by the researcher

B. The variable that remains constant throughout the research

C. The variable that is measured and observed

D. The variable that is not relevant to the research question
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g§emoYZm‘Ü¶o Adb§~yZ ìho[aE~b åhUOo H$m¶?

A. g§emoYH$mZo hmVmibobo Mb

B. g§nyU© g§emoYZmV pñWa amhUmam Mb

C. ‘moO‘mn Am{U {ZarjU Ho$bobo Mb

D. g§emoYZ àíZm§er g§~§{YV Zgbobo Mb

37) Which of the following statistical tests is appropriate to test the relationship

between two continuous variables while controlling other variables?

A. T-test B. ANOVA

C. Chi-square test D. Regression Analysis

BVa Mb {Z¶§{ÌV H$aVmZm XmoZ gVV Mbm§‘Yrb g§~§Y VnmgÊ¶mgmR>r Imbrbn¡H$s H$moUVr

gm§p»¶H$s¶ MmMUr ¶mo½¶ Amho?

A. Q>r-MmMUr B. ANOVA

C. Mr-ñ³doAa MmMUr D. à{VJ‘Z {díbofU

38) What is bias in research methodology?

A. A measure of central tendency

B. A measure of variability

C. A systematic error in data collection

D. A random error in data collection

g§emoYZ nÕVrV njnmV åhUOo H$m¶?

A. ‘Ü¶dVu àd¥ÎmrMo ‘moO‘mn B. n[adV©ZerbVoMo ‘mn

C. S>oQ>m g§H$bZmV nÕVera ÌwQ>r D. S>oQ>m g§H$bZmV EH$ ¶mÑpÀN>H$ ÌwQ>r

39) Qualitative data includes-

A. Numerical and percentile information of a subject

B. Every major and minor details of a subject

C. Both A) and B)

D. None of above
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JwUmË‘H$ S>oQ>m‘Ü¶o g‘m{dï> Amho.

A. {df¶mMr g§»¶mË‘H$ Am{U Q>³Ho$dmar ‘m{hVr

B. {df¶mMo àË¶oH$ ‘moR>o Am{U bhmZ Vnerb

C. (A) Am{U (B) XmoÝhr

D. ¶mn¡H$s EH$hr Zmhr

40) ............. describes the present state of affairs, as it exists without having any

control over variables.

A. Analytical research B. Descriptive research

C. Applied research D. Distinctive research

........... ho gÜ¶mÀ¶m KS>m‘moS>rMo dU©Z H$aVo H$maU Vo Mbm§da H$moUVohr {Z¶§ÌU Z R>odVm ApñVËdmV

Amho.

A. {díbofUmË‘H$ g§emoYZ B. dU©ZmË‘H$ g§emoYZ

C. Cn¶mo{OV g§emoYZ D. {d{eï> g§emoYZ

41) .................... is related to some abstract ideas or theory.

A. Contextual research B. Conceptual research

C. Ideal research D. Empirical research

.............. H$mhr A‘yV© H$ënZm qH$dm {gÕm§Vmer g§~§{YV Amho.

A. g§X{ ©̂V g§emoYZ B. g§H$ënZmË‘H$ g§emoYZ

C. AmXe© g§emoYZ D. AZŵ dOÝ¶ g§emoYZ

42) ................. is a hypothetical statement denying what are explicitly indicated in

working hypotheses.

A. Null hypotheses B. Working hypotheses

C. Descriptive hypotheses D. Relational hypotheses

............. ho EH$ H$mën{ZH$ {dYmZ Amho Oo H$m¶©aV J¥hrVH$m§‘Ü¶o ñnï> nUo gy{MV Ho$bo Amho

Vo ZmH$maVo.

A. eyÝ¶ J¥hrVHo$ B.  H$m¶©aV J¥hrVHo$

C.  dU©ZmË‘H$ J¥hrVHo$ D.  [aboeZb J¥hrVHo$
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43) Research design is a blue print, outline and a ................

A. Strategy B. Plan

C. System D. Guide

g§emoYZ {S>PmB©Z hr ãby qàQ>, ~møaoIm Am{U ............. Amho.

A. aUZrVr B. ¶moOZm

C. àUmbr D. ‘mJ©Xe©H$

44) Action research involves:

A. Exploring new research areas.

B. Evaluating the effectiveness of programs.

C. Taking action to address a social issue or problem.

D. Diagnosing specific factors contributing to a problem.

H¥$Vr g§emoYZm‘Ü¶o ho g‘m{dï> Amho:

A. ZdrZ g§emoYZ joÌm§Mm emoY KoUo.

B. H$m¶©H«$‘m§À¶m n[aUm‘H$maH$VoMo ‘yë¶m§H$Z H$aUo

C. gm‘m{OH$ g‘ñ¶m qH$dm g‘ñ¶m gmoS>dÊ¶mgmR>r H$madmB© H$aUo.

D. g‘ñ¶og H$maUr ŷV Agboë¶m {d{eï> KQ>H$m§Mo {ZXmZ H$aUo.

45) A researcher conducts a study to assess the effectiveness of a counselling

program for individuals dealing with grief. Which type of research is most

suitable for this study?

A. Descriptive research B. Evaluation research

C. Exploratory research D. Diagnostic research

EH$ g§emoYH$ Xþ:ImMm gm‘Zm H$aUmè¶m ì¶³VtgmR>r g‘wnXoeZ H$m¶©H«$‘mÀ¶m n[aUm‘H$maH$VoMo
‘yë¶m§H$Z H$aÊ¶mgmR>r Aä¶mg H$aVmo. ¶m Aä¶mgmgmR>r H$moUË¶m àH$maMo g§emoYZ gdm©V ¶mo½¶

Amho?

A. dU©ZmË‘H$ g§emoYZ B. ‘yë¶‘mnZ g§emoYZ

C. AÝdofUmË‘H$ g§emoYZ D. {ZXmZ g§emoYZ
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46) What does the term "research gap" signify in the context of formulating a

research problem?

A. The time gap between conducting literature reviews

B. A specific area or aspect of knowledge that has not been sufficiently

addressed in existing literature

C. The time it takes to complete a research project

D. The gap between research objectives and outcomes

g§emoYZ g‘ñ¶m V¶ma H$aÊ¶mÀ¶m g§X^m©V "g§emoYZ CUrdm' hm eãX H$m¶ Xe©dVmo?

A. gm{hË¶ nwZamdbmoH$Zo Am¶mo{OV H$aÊ¶mV doi A§Va

B. EH$ {d{eï> joÌ qH$dm kmZmMm n¡by Á¶mMm gÜ¶mÀ¶m gm{hË¶mV nwaogm {dMma Ho$bm Jobm

Zmhr

C. g§emoYZ àH$ën nyU© H$aÊ¶mgmR>r bmJUmam doi

D. g§emoYZmMr C{ÔîQ>ço Am{U n[aUm‘m§‘Yrb A§Va

47) What is the term for a statement that describes the anticipated outcomes of the

research. study?

A. Research hypothesis B. Research gap

C. Research objectives D. Research methodology

g§emoYZ Aä¶mgmÀ¶m Ano{jV n[aUm‘§mMo dU©Z H$aUmè¶m {dYmZmbm H$m¶ g§km Amho?

A. g§emoYZ J¥hrVH$ B. g§emoYZ A§Va

C. g§emoYZ C{Ôï>o D. g§emoYZ nÕVr

48) A research tool that measures attitudes by assessing the presence or absence

of certain characteristics is called a:

A. Likert scale B. Semantic differential scale

C. Guttman scale D. Thurstone scale

{d{eï> d¡{eîQ>çm§À¶m CnpñWVr qH$dm AZwnpñWVrMo ‘yë¶m§H$Z H$éZ ‘Zmod¥ÎmrMo ‘moO‘mn H$aUmao

g§emoYZ gmYZ ............... bm åhUVmV.

A. brH$Q>© ñHo$b B. {g‘|{Q>H$ {S>’$a|{e¶b ñHo$b

C. Guttman ñHo$b D. WañQ>moZ ñHo$b
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49) A research tool that measures the strength and direction of the relationship

between two or more variables is known as a:

A. Scale B. Correlation

C. Test D. Likert scale

XmoZ qH$dm A{YH$ Mbm§‘Yrb g§~§Ym§Mr VmH$X Am{U {Xem ‘moOUmao g§emoYZ gmYZ åhUyZ

AmoiIbo ............... OmVo.

A. ñHo$b B. ghg§~§Y

C. MmMUr D. S>r. brH$Q>© ñHo$b

50) Which type of question allows respondents to freely express their opinions

and thoughts without any restrictions?

A. Open-ended question B. Closed-ended question

C. Likert scale question D. Multiple-choice question

H$moUË¶m àH$maMm àíZ à{VgmXH$Ë¶mªZm H$moUË¶mhr {Z~ªYm{edm¶ Ë¶m§Mr ‘Vo Am{U {dMma

‘w³VnUo ì¶³V H$ê$ XoVmo?

A. AmonZ E§S>oS> àíZ B. ~§X àíZ

C. Likert ñHo$b àíZ D. ~hþ-{ZdS>H$ àíZ
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